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Abstract. We analyze the performance of single-parameter mechanisms for markets in
which there is competition amongst both consumers and suppliers (namely, two-sided
markets). Specifically, we examine the proportional allocation mechanism for two-sided
markets. This mechanism is the natural generalization of both Kelly’s proportional
allocation mechanism for demand-competitive markets [8] and Johari and Tsitsiklis’
proportional allocation mechanism for supply-competitive markets [7].

First we consider the case of a market for one divisible resource, for example band-
width on a single-link network. Under the standard assumptions of decreasing marginal
valuations for buyers and increasing marginal costs for suppliers, we show that a Nash
equilibrium always exists for the proportional allocation mechanism, provided there are
at least two suppliers. The effectiveness of the mechanism in achieving high social welfare
is dependent upon the curvature of the suppliers marginal cost functions. We measure
this effectiveness in terms of the welfare ratio (price of anarchy), the worst case ratio of
an equilibrium against an optimal social solution. In the case of convex marginal costs,
the welfare ratio is about 0.5887. This ratio is tight, there are examples achieving the
bound (the odd looking bound itself arises from the solution to a quartic equation). The
level of competition in the market also affects the welfare performance of the mechanism.
For example, the worst case bound arises when the demand-side is highly competitive
and the supply-side is a duopoly, but improves to 0.64 when the supply-side is fully
competitive. In sharp contrast, the welfare ratio increases as demand-side competition
decreases, reaching a maximum of 0.718 in the case of a monopsony.

For concave marginal cost functions the welfare ratio depends upon the degree of
non-linearity in the corresponding cost function. This is illustrated by consideration of
cost functions of the form C(z) = cz'*a which produce a welfare ratio of Q(55), for any
fixed d.

We complement these results by showing that the proportional allocation mechanism
uniquely achieves the optimal welfare ratio amongst a class of two-sided single-parameter
market-clearing mechanisms.

Furthermore, our worst case bounds extend to the case of multiple resources. In
particular, our results extend to the case of bandwidth markets over arbitrary networks,
as well as to general multi-item markets.

1. INTRODUCTION

How to produce and allocate scarce resources is the most fundamental question in econom-
ics.! The standard tool for guiding production and allocation is a pricing mechanism. However,
different mechanisms will have different performance attributes: no two mechanisms are equal.
Of particular interest to computer scientists is the fact that there will typically be an inherent
trade-off between the economic efficiency of a mechanism (measured in terms of social welfare)
and its computational efficiency (both time and communication complexity). Socially optimal
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allocations can be achieved using pricing mechanisms based on classical VCG results, but imple-
menting such mechanisms generally induces excessively high informational and computational
costs [15]. In this paper, we study this tradeoff from the opposite viewpoint: we examine the
level of social welfare that can be achieved by mechanisms performing minimal amounts of
computation. In particular, we restrict our attention to so-called scalar-parametrized pricing
mechanisms. Each participant submits only a single scalar bid that is used to set a unique
market-clearing price for each good. Evidently, such mechanisms are computationally trivial to
handle; more surprisingly, they can produce high welfare.

The chief practical motivation for considering scalar-parametrized mechanisms (both in our
work and in the existing literature) is the problem of bandwidth sharing. Namely, how should
we allocate capacity amongst users that want to transmit data over a network link? The use
of market mechanisms for this task has been studied in Asynchronous Transfer Mode (ATM)
networks [18] and the Internet [17]. In fact, the Internet is made up of smaller interconnected
networks that buy capacities from each other. Physical connections are formed in central clearing
houses, called internet exchanges, which act as marketplaces for bandwidth. Indeed, the market
mechanisms we consider are closely inspired by the structure of the Internet. Specifically, we
would like our solutions to be scalable to very large networks. This requirement for scalability
forces us consider only simple mechanisms, such as those that set a unique market clearing price.
The computational requirements of more complex systems, e.g. mechanisms that perform price
discrimination, become impractical on large networks [1].

We remark that unique price mechanisms are also intuitively “fair”, as every participant is
treated equally. This fairness is appealing from a social and political perspective, and indeed
these systems are used in many real-world settings, such as electricity markets [19].

1.1. BACKGROUND AND PREVIOUS WORK. A basic method for resource allocation is the pro-
portional allocation mechanism of Kelly [8]. In the context of networks, it operates as follows:
each potential consumer submits a bid by; bandwidth is then allocated to the consumers in
proportion to their bids. This simple idea has also been studied within economics by Shapley
and Shubik [16] as a model for understanding pricing in market economies. In a groundbreaking
result, Johari and Tsitsiklis [5] showed that the welfare loss incurred by this mechanism is at
most 25% of optimal.

Observe that Kelly’s is a scalar-paramterized mechanism for a one-sided market: every partic-
ipant is a consumer. Johari and Tsitsiklis [7]| also examined one-sided markets with supply-side
competition only. There, under a corresponding single-parameter mechanism, the welfare loss
tends to zero as the level of competition increases. We remark that we cannot simply analyse
supply-side competition by trying to model suppliers as demand-side consumers |[3].

Of course, competition in markets typically occurs on both sides. Consequently, understanding
the efficiency of two-sided market?> mechanisms is important problem. In this work, we analyze
the price of anarchy in a mechanism for a two-sided market in which consumers and producers
compete simultaneously to determine the production and allocation of goods. This mechanism
was first proposed by Neumayer [11] and is the natural generalization of both the demand-side
model of Kelly [8] and the supply-side model of Johari and Tsitsiklis [7].

In order to examine how the generalized proportional allocation mechanism performs in a two-
side market, it is important to note that there are three primary causes of welfare loss. First,
the underlying allocation problem may be computationally hard. Secondly, even if the allocation
problem is computationally simple, the mechanism itself may still be insufficiently sophisticated
to solve it. Thirdly, the mechanism may be susceptible to gaming; namely, the mechanism may
incentivize selfish agents to behave in a manner that produces a poor overall outcome. As we will

2It should be noted that “two-sided market” often has a different meaning in the economics literature than the
one we use here. There it refers to a specific class of markets where externalities occur between groups on the
two sides of the market.
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see in Section 3, the first two causes do not arise here: the proportional allocation mechanism
can quickly find optimal allocations in two-sided markets. Thus, we are concerned only with
the third factor: how adversely is the proportional allocation mechanism affected by gaming
agents? That is, the mechanism may be capable of producing an optimal solution, but how will
the agents’ selfish behaviour affect social welfare at the resultant equilibria?

In this paper we prove the proportional allocation mechanisms does perform well in two-sided
markets. Specifically, in quite general settings, the mechanism provides a constant factor welfare
ratio (that is, a constant factor price of anarchy guarantee). Moreover, we will show that there
is large family of mechanisms among which ours uniquely achieves the best possible price of
anarchy guarantee. We state our exact results, in Section 2.4, after we have described the model
and our assumptions.

2. THE MODEL

2.1. THE TWO-SIDED PROPORTIONAL ALLOCATION MECHANISM. Here, we formally present the
two-sided proportional allocation mechanism due to Neumayer [11]. There are () consumers and
R suppliers. Each consumer ¢ has a valuation function V;(d,), where d, represents the user’s
allocation, and each supplier r has a cost function C,(s,), where s, is the supplier’s production
quota. The consumers and suppliers respectively input bids b, and b, to the mechanism. By doing
so, consumers are implicitly selecting a bg,-parametrized demand function of the form D(bg, p) =
%‘1, and suppliers are selecting a b,-parametrized supply function of the form S(b,,p) =1 — %.
A high bid by a consumer indicates a high willingness to pay for the product, and a low bid by
a supplier indicates a high willingness to supply (alternatively, a high bid indicates a high cost
supplier). The actual choice of constant used for the supply functions does not affect our results,
and so we choose it to be 1.

Observe that the parametrized demand functions are identical to the ones in the demand-side
mechanism of Kelly [8], and the supply functions are identical to the ones in the supply-side
mechanism of Johari and Tsitsiklis [7]. The peculiar form of the supply functions comes from
the interesting fact that for most scalar-parametrized mechanisms, in order to have a non-zero
welfare ratio, the supply functions have to be bounded from above. In other words, suppliers’
strategies must necessarily be constrained in order to obtain high welfare; see Appendix J for
the precise statement of this fact. This rules out, for instance, Cournot-style mechanisms where
suppliers directly submit the quantities they wish to produce.

More detailed justifications for this choice of model can be found in [11], as well as in [8] and
[7]. Further justification for the mechanism will be provided by our results. Specifically, the
proportional allocation mechanism generally produces high welfare solutions and, in addition, it
is the optimal mechanism amongst a class of single-parameter mechanisms for two-sided markets.

Given the bids, the mechanism sets a price p(b) that clears the market; i.e. that satisfies

. b by
22221 %q = Zle(l - %). The price therefore gets set to p(b) = %
receives dg units of the resource, and pays pd,, while supplier 7 produces s, units and receives a
payment of ps,. In the game induced by this mechanism, the payoff (or utility) to consumer ¢

placing a bid b, is then defined to be

b .
Hf](bq) = V;J(ZqEQ bq‘gzr breRR) - bq if bq >0
Va(0) if by =0

. Consumer ¢ then

and the payoff to supplier r placing a bid b, is defined as

ZLIGQ bq+zr€R br _ _ _ br. 1
: b= Co(1 = sl R) i, >0

Hr(br) -
Zagrbitavent o () if b, = 0
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2.2. THE WELFARE RATIO. The social welfare produced by the mechanism on bids b is defined
as

Q R
W(b) =) Vy(dy(b)) =) Cr(sr(b))
q=1 r=1

If the agents act as “price-takers”, we show in Section 3 that the mechanism maximizes social
welfare. However, since the price is a function of their bid, each agent is a “price-maker”. If
agents attempt to exploit this market power then a welfare loss may occur at a Nash equilib-
rium. Consequently we are interested in maximizing (over all equilibria) the welfare ratio more

3 NE . . .. .
commonly known as the price of anarchy, %. Equivalently, we wish to minimize the welfare
WNE
1058, 1 — W

2.3. AssuMPTIONS. We make the following assumption on the valuation and cost functions.

Assumption 1. For each consumer q, the valuation function Vy(d,) : Rt — RT is strictly
increasing and concave. For each supplier r, the cost function Cy(s;) : Rt — RT is strictly
increasing and conver.

Assumption 1 corresponds to decreasing marginal valuations and increasing marginal costs.
The assumption is standard in the literature. It certainly may not hold in every market?, but
without it there will be a natural incentive for the number of agents to decline on both sides of
the market. In this paper, we will also assume that our functions are differentiable over their
entire domain; this property is assumed primarily for clarity and is not essential.

Assumption 1, however, is not sufficient to ensure a large welfare ratio (small welfare loss). In
fact, the welfare ratio depends upon the curvature of the marginal cost functions. Specifically,
if the marginal cost functions are convex, then we show, in Section 3, that the welfare ratio is
at least 0.58. For concave marginal cost functions, we obtain constant welfare ratios, provided
the cost function is sufficiently non-linear; see Section 4. As the marginal cost functions tend
to constants, the welfare ratio tends to zero; an example of this is given in Appendix E (see
Neumayer [11] for another example).

Our main result concerns convex marginal cost functions. Formally, for most of the paper, we
assume that

Assumption 2. For each supplier v, the marginal cost function Cl(s,) is convezr. Furthermore,
we assume that Cy(0) = CL(0) = 0.

Convex marginal cost functions (for example, as often occur with quadratic or higher degree
polynomial functions) are extremely common in both the theoretical and the practical literature
on industrial theory [20], so this assumption is not particularly restrictive. As noted, though, we
may also obtain good guarantees for concave marginal cost functions. In Assumption 2 we also
set C1.(0) = 0 but, as we show in Appendix D, constant welfare ratios still arise whenever C/.(0)
is bounded below one (it cannot be higher than one or the firm is uncompetitive). Finally, we
remark that Assumption 2 was also used in Johari, Mannor and Tsitsiklis [4].

2.4. OUR RESULTS. In this paper we prove that:

Theorem 1. A competitive equilibrium exists for the two-sided proportional allocation mecha-
nism and it optimizes social welfare.

Theorem 2. The mechanism has a unique Nash equilibrium for R > 2.

Given Assumption 2, our main result is:

3For example, in markets exhibiting economies of scale.



Theorem 3. The worst case welfare ratio for the mechanism involving R > 2 suppliers equals
S2(R—1)2+4(R—1)s +2s?)
(R—1)(R—1+2s)
where s is the unique positive root of the quartic polynomial
v(s) = 165 + (R — 1)s*(49s — 24) + 10(R — 1)?s(3s — 2) + (R — 1)*(5s — 4)
Furthermore, this bound is tight.

This shows us that the mechanism gives a constant factor welfare ratio. Moreover, it allows
us to examine how the level of competition in the markets affects welfare. Specifically, we find

Corollary 4. The worst case welfare ratio occurs for a duopoly (R =2) and is 0.588727.
Corollary 5. If the supply side is fully competitive (R — oo) the welfare ratio is 0.64.

Consequently, as supply-side competition increases, the welfare ratio improves. Surprisingly,
the welfare ratio decreases as demand-side competition increases. The best welfare ratios arise
when there is only one consumer () = 1), that is, in the case of a monopsony. For example, we
obtain

Theorem 6. For a monopsonist facing a fully competitive supply-side the welfare ratio is 0.718.

Recall that for a fixed demand welfare loss tends to zero when the supply side is fully com-
petitive [7]. In contrast, no such result holds in two-sided markets. This follows as in two-sided-
markets the situation most closely corresponding to a fixed demand is that of a monopsony, but
Theorem 6 tells us that there can then be welfare losses.

Removing Assumption 2, the welfare ratio is zero for linear cost functions. The rate at which
the welfare ratio tends to zero for concave marginal cost functions is illustrated by a class of
polynomial cost functions with degree 1 + é that give a constant welfare ratio for any fixed d.

Theorem 7. The welfare ratio for cost functions Cy(s,) = cx'ta s Q(d%)

The two-sided market for a single resource can be generalized to the case of multiple resources.
An important multi-resource setting is that of bandwidth shared on a network of links. A
network version of our market can be defined, as can more general multi-resource markets (see
Appendix G) and our welfare guarantees still apply.

Theorem 8. The welfare ratio in networks equals that of the single-resource model.
Theorem 9. The welfare guarantees hold for more general multi-resource markets.
Finally, we show that the proportional allocation mechanism is optimal in the following way:

Theorem 10. In two-sided markets, the proportional allocation mechanism provides the best
welfare ratio amongst a class of single-parameter market-clearing mechanisms.

Our proof techniques are inspired by the approaches and techniques developed to analyze
single-sided markets by Johari [3|, Johari and Tsitsiklis ([5], [6] and [7]), Johari, Mannor and
Tsitsiklis [4], and Roughgarden [14]. Due to space limitations, most of our results will be deferred
to the appendices. Here, in the main text, we will focus upon the proof of Theorem 3.

3. OPTIMIZATION IN EIGHT STEPS

The proof of the main result, Theorem 3, is presented below in eight steps. We formulate
the efficiency loss problem as an optimization program in Step III. To be able to formulate
this we first need to understand the structure of optimal solutions and of equilibria under this
mechanism. This we do in Steps I and II, where we give necessary and sufficient conditions for
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optimal solutions and for equilibrium. (Moreover, there is always a unique equilibrium provided
the supply market is not a monopoly.) This leads us to an optimization problem that initially
appears slightly formidable, so we then attempt to simplify it. In Steps IV and V, we show
how to simplify (eliminate) the demand constraints in the program. Then in Steps VI and VII,
we simplify (eliminate) the supply constraints in the program. This produces an optimization
program in a form more amenable to quantitive analysis; we perform this analysis in Step VIII.

Step I: Optimality Conditions. The best possible allocation is the solution to the system:

Q R
(OPT)  max  » Vu(dJ"")=> Cn(sOFT

Q R

s.t quOPT:Zsf?PT
q:l r=1
0<s9PT <1
dgt" >0

Since the constraints are linear, there exists an optimal solution at which the Karush-Kuhn-
Tucker (KKT) conditions hold. (The solution is optimal because the objective function is con-
cave, the first order conditions are thus sufficient.) These conditions imply that

C’;(STOPT) < A if 0 < s?PT <1

C’;(S?PT) > A if 0 < s9PT <1
OPT ¢ JOPT

Vv, (dg ) < A itd;"" =0
OPT ¢ JOPT

v, (dq ) = A ifd;"" >0

where A is the dual variable corresponding to the equality constraint.

We remark that a competitive equilibria, where the agents act as price-takers with respect to
the mechanism, exists and maximizes social welfare. A proof of this (that is, of Theorem 1) is
given in Appendix C.

Of course, agents are clearly price-makers under this mechanism, so competitive equilibria are
not our focus. Consequently, our goal now is to understand equilibria given this fact.

Step II: Equilibria Conditions. Here we describe necessary and sufficient conditions for a
set of bids b to form Nash equilibrium.

First, observe that there must be at least two suppliers, that is R > 2. If not, then we have a
monopolist k& whose payoff is is strictly increasing in by. Specifically,

>, by
(O, b Zb bk+Zb Zb bk+2b)

Next, we show that if b is a Nash equilibrium, then at least two bids must be positive. Suppose
for a contradiction that we have a supplier k and »_, by = >, bg = 0. Then II;(0) = —Cx(1),

and I (b) = —% br, when by > 0. For the second expression, we used the fact that Ci(z) =0
for any x < 0. Observe that if by = 0 then the firm can profitably deviate by increasing by
infinitesimally; on the other hand, if b > 0 then the firm should infinitesimally decrease by.
Thus, there is no equilibrium in which either all bids are zero, or a single supplier is the only
agent to make a positive bid. Thus there must be at least two positive bids at equilibrium.

Since at least two bids are positive, the payoffs Il are differentiable and concave, and the
following conditions are necessary and sufficient for the existence of a Nash equilibrium. For the
suppliers,



NE NE

! > i <
C’,,(sr)(l—i-R 1>_p if0<b <p Cr(s )(1+R_

For the consumers, V/(0) < p and V/(d}'") (1 - d—q> =pif dY¥ > 0.
Moreover, if there are at least two suppliers then there is a unique Nash equilibrium. A proof
of this (that is, of Theorem 2) is given in Appendix D.

)Sp if0<b.<p

Step III: An optimization problem. We can now formulate the welfare ratio as an opti-
mization problem.

(1) min = Va5 G )
S Va(d9PT) =, Cr(s9PT)

NE
(2) st V(d)E) (1 — d‘h ) >p Vg s.t. déVE >0

dNE
(3) Va(a®) (1= %) < vq
(4) C! (sNF) (1 n ;ﬁ) <p Vrst. 0<sVE <1
(5) Ol (sNF) (1 + RN_L;) >p Vr st 0< sNF <1
(6) e dyE = 8N E
(7) C!(s9PT) < X Vrst. 0<s9PT <1
(8) C!(s9PT) > X vrst 0<s9PT <1
(9) V) (d9FT) < A Vg s.t. dJPT =0
(10) Vi(d9PT) = A Vg s.t. d9FT >0
(11) Z JOPT ER LS sOPT
(12) d9PT ayF >0 Yq
(13) 0 < sNE sOPT <1 Vg, r
(14) pA>0

Given the cost and valuation functions, the constraints (2)-(6) are necessary and sufficient con-
ditions for a Nash equilibrium by Step II, and constraints (7)-(11) are the optimality conditions
from Step I. We now want to find the worst-case cost and valuation functions for the mechanism.

Step IV: Linear Valuation Functions. To evaluate this intimidating looking program we at-
tempt to simplify it. First, efficiency loss is worst when each consumer has a linear valuation func-
tion. This is simple to show using a standard trick (see, for example, [5]). Thus, we restrict our-
selves to linear functions of the form V,(d,y) = a4d,. Without loss of generality, we may assume
that aq > as > ... > ag and that max,; a, = 1 after we normalize the functions by 1/ max, ay.

Observe that this implies that dOP T — OP T and dOP T =0 for ¢ > 1. As a result the objec-
tive function becomes (dNE + Zq 9 aquE ~- R C(sh )) / (Zf L sOPT SR (s OPT))

and the optimality constraints become C%.(s9FT) < 1,Vr s.t. 0 < s9PT < 1 and C’.(s9F7T) 2
1,Vrst. 0< SOP T < 1. With linear valuations, the new optimality constraints ensure SOP T
optlmal by setting the marginal cost of each suppher to the marginal valuation, a; = 1, of the
first consumer.

Step V: Eliminating the Demand Constraints. In this step, we describe how to eliminate
the demand constraints from the program. First we show that we can transform constraint (14)
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into 0 < p < 1. Since a4 < 1,Vq, we see that constraint (2) implies that p < 1. Furthermore,
if p = 1, then (2) can never be satisfied, and so we must have déV E = 0,V¥q. The supply equals
demand constraint (6) then gives sN¥¥ = 0,Vr. This gives a contradiction as the resulting
allocation is not a Nash equilibrium: any supplier can increase its profits by providing a bid
slightly smaller than p (remember that C/.(0) = 0 by Assumption 2). Thus p < 1. This, in turn,
implies that d)¥ > 0. To see this, note that if dY¥ = 0 then (3) cannot be satisfied for ¢ = 1.
Consequently, constraints (2) and (3) must hold with equality for ¢ = 1. In fact, without loss of
generality, constraints (2) and (3) hold with equality for ¢ > 1. If constraint (2) does not hold
with equality, we can reduce oy, and this does not increase the value of the objective function.
If df]V £ = 0 and constraint (3) does not hold with equality, we can set ag = p and the objective
function will be unaffected. So, ay = 1_%\%/}% for all g. Substituting into the objective function:

dNE R
APy TR X Ol ®)

(15) min Sy sQPT -3 On(s9PT)
NE
16 s.t. <1 - le ) =p

—_
EN |

Cl(sNF) (1—|— ;71) <p Vrst 0<sNP <1
+

—
oo

;_1>2p Vrs.t.Ogs,{VE<1

—_
N

vrst 0<sOPT <1
Vrs.t.OSs?PT<1
dVE >0 Vg > 2

N DN
[N

[\)
w

0 < slVE OPT < Vr

N N N/~~~ o~~~ o~~~
[\] [\
NG (o)
— O Y Y~ Y — Y ~— T
—~
»
Q
3
S
S~—
VoOIA 3
_ =

[\
ot

Now, observe that the objective function is convex and symmetric in the variables do, ..., dg,
when all the other variables are held fixed. Convexity holds because our function is a sum of

NE
1—3?\’7‘9/}%’ qg=2,...,Q, that are convex on the range [0, R]; note that déVE < R by (6),
q
(12) and (13). Therefore, for any given fixed assignment to the other variables, we must have

dy = ... =dg := z(p,s,d1). Otherwise, we could reshuffle the variable labels and obtain a second
minimum, which is impossible by the convexity of the objective function. So, after replacing

every d, by z(p, s, d;), constraint (19) becomes z(p, s, d;) = (ZR sNE d{VE) /(Q —1). After

functions

r=1°r
inserting constraint (16) and the new constraint (19), the numerator of the objective function
(15) becomes

R
(1-p)R+p(Q— 1>ﬁ =S C(sME)

(S sE-a®)f@-1) &
Lk (L) @-1) S

Zf=1SrNE—(1—P)R & NE
= (1=»)R - Cr(s
I e ey e

= (I-pR+p(@-1)




where we have replaced the function z(p, s, d;) by an ordinary variable = for simplicity.

Finally, observe that if we increase @) by one, the objective function (1) cannot increase, since
we can set dgy1 = 0 and at least keep the same objective function value as before. Therefore,
without loss of generality, we can take the limit as Q — oco.* Note that this only changes the
objective function, as all the constraints that contained () have been inserted into the function
and can be eliminated. After these changes, the optimization problem becomes

1 pREpY SYEYE G (sNE

(27) st O (14 37) < vrst. 0 < sVE <1
, NE

(28) C.(sNE) (1—1—;11) >p Vrst 0<sMP <1
(29) Cl(s9PT) <1 vrst. 0< 9T <1
(30) Cl(s9PT) > 1 vrst. 0<s9PT <1
(31) 0 < sNF sOPT <1 vr
(32) 0<p<l1

Hence, we have achieved our goal and completely eliminated the demand side of the optimization
problem. Specifically, all the demand constraints have been replaced with an expression that is
a function of the supply-side allocation. Now we must find the worst such allocation.

Step VI: Linear Marginal Cost Functions We will now show that, in searching for a
worst case allocation, we can restrict our attention to linear marginal cost functions of the
form C/(s,) = Brs, where 3, > 0. We do this by exhibiting, for any family of cost functions
Cyr(sy),r € R, two new families C,() and C,() with the property that the C, have a better
performance ratio than the C, which, in turn, have a a better performance ratio than the C,
Furthermore, the C, will be a family with linear marginal costs, as desired. The cost functions
are defined as

_ Cl(sy) if s, < sNF . Cl(sNE)
Cl(s;) = 1 NE " and Cl.(sy) = "5
rlsr) {C’"S(Jf/}; ) sy if s, > sNE e sNVE T
where sV is the Nash equilibrium allocation to supplier 7 when the cost functions are C,(s;).

Observe that the s¥¥ still satisfy the Nash equilibrium conditions (27) and (28) for both the
new cost functions C, and C,.. Thus NE = gNE = sNE,
equilibrium is identical in all three cases.

We will now show that the performance ratio for the C, is better than for the C,.. In particular,
the optimal solution can only get better in the former case. To see this, observe that by the

convexity of C’(s,), we have C/(s,) > C(s,) for s, > sN¥. Thus

consequently, the efficiency at the Nash

R R R R R R
OPT OPT OPT ~ OPT -OPT ~ (sOPT
39T GO < 3T S 3G OT) < 3RO -3 6 (a0P)
r=1 r=1 r=1 r=1 r=1 r=1
(where 5977 is the optimal allocation to supplier » when the cost functions are C,.).

So our goal now is to show that using C, is not better than using C,.. Before doing that, we’ll
need to establish some results. First, observe that we must have sN* > 0 for all r. If s¥ =0
for some 7, then by (28), p = 0, which can only happen when all bids equal 0. As shown in Step
I1, this is impossible. Similarly, we have s?FT > 0 for all 7, because at s977 = 0, constraint
(30) is violated. Note that in both cases, we have used the fact that C..(0) = 0.

430 increased competition on the demand side cannot improve the welfare ratio guaranteed by the mechanism!
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Next, observe that for all » we have sOPT > SNE. If sOPT
so assume s9P7 < 1. Then we have C’(s OPT) =1 >

TSN E (R T)

= 1, the claim holds trivially,

> C'(sNF). Here the

equality holds by (29) and (30), the first inequality follows from (31) and (32), and the second
one follows from (27). Since the marginal costs are strictly increasing, our claim holds.

By convexity, C'.(s,) > C'(s,) for 0 < s, < 5¥F. Thus A,

= Cr(*é{«VE)

- ér(gq{VE) > 0;

note that A, is exactly the area on the graph between €’ and C'. on the interval [0, sN?]. As

NE _ :NE _ ;NE
st =57 =35"" we have

( ) R +p2’r 1 771“VE Zf:l CYT(‘§7]‘VE) > ( )2R +er 1 A7]"VE Zf:l C_"”(gvl"VE) — Z'r AT
SO, SOPT — 33 G (5OPT) B S L SOPT — S CH(s9PT) = 30, A,

( )2R+p2r 1 5r

ANE

— > G (3

25:1 $PPT — Zr:1 Cr(59PT)
To see the equality, recall that 97T > NP, Then, because C’(s,) = C'(s,) in the range
sy > sNF it follows that s?PT = S?PT. For s, > 8NE we also have C(s,;) = C.(s,) + A,.

Thus, the performance ratio of the C, is at most that of the C,.

Step VII: Eliminating the Supply Constraints. Assuming linear marginal cost functions,
the optimization problem (26)-(32) becomes

(1 p)2R+pZ’V‘ 1 7‘ 1/227‘ 1ﬁ7‘( )

(33) min Zf’: sOPT _1/3 ZR_lﬁr( OPT)2

(34) s.t. Brsy® (1 + ﬁi) <p Vrst. 0<sNE <1
(35) Brsp P (1 + %) >p Vrst 0<sVP <1
(36) BT < 1 vrst. 0< 9T <1
(37) B,s9PT > 1 Vrst. 0< sf,)PT <1
(38) 0 < sNE sOPT < vr

(39) Br >0 r

(40) 0<p<l1

with the new variables ,, r = 1,..., R. From s?77 > sNF we can then deduce that (34) and
(35) hold with equality. Suppose they don’t for some r. Then sN¥ = sOPT = 1. Constraint (34)
is G, < m < p < 1. Hence, 3, = m will be a feasible solution (i.e. constraint (36)
will still be satisfied). Furthermore, increasing [, to m will only decrease the objective
function since this is equivalent to subtracting a positive number from the numerator and the
denominator. We can further simplify the system by replacing constraints (36) and (37) with
sOPT — min(1/8,,1). It is easy to see that s?F7 and 3, satisfy the equation above if and only
if they satisty (36) and (37). The reduced optimization problem now becomes:

(1 p)2R+er 18 7‘ 1/227‘ 157‘( )

(41) min SR sOPT_1/35° I §3,(sOPT)2

(42) s. t. BrsNE (1 + %) =p Vr
(43) sOPT = min(1/6,,1) Vr
(44) 0 < sNF sOPT <1 Vr
(45) Br >0 Vr
(46) 0<p<l1
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We can insert the equality constraints (42) and (43) into the objective function (41) to obtain:

(1—p)2R+ ZR SNE _p/s ZR s
(47) min p P2ir=15r r=1 HS;\JE/(RQ»,”
. min(1/8r,1)
Sorly min(1/8r,1)—#/2 307 SNE(1+sNE /(Ro1))
(48) s.t. 0<sMP <1 Vr
(49) br = rramrEE) vr
(50) 0<p<l

The objective function (47) can be rewritten as:
R NE
S (0= pP + 05" = it
R . in(1/6,,1)2
S (min(1/8,,1) — vt )

Consequently, the minimum of the optimization problem (47)-(50) is greater than or equal to

(1—p)*+ps —p/Qm

(51) min ——— —
min( 24+ /p(R ) 1y - 23(1-}-37(1%—1)) min (20 /p(R D) 1)

(52) st.  0<s<1

(53) 0<p<l1

We have now reduced the system (33)-(40) to a two-dimensional minimization problem. The
next step is to try to explicitly find the minimum.

Step VIII: Computing the Worst Case Welfare Ratio.

To obtain Theorem 3 we need to solve the optimization problem (51)-(53) with R as a pa-
rameter. We show how to do this in Appendix C. Thus we have proved our main result. It has
several ramifications. Firstly, the worst case welfare ratio occurs with duopolies, that is when
R = 2. There we obtain s = 0.566812 - - - which gives a worst case welfare ratio of 0.588727---.
Moreover, observe that this bound is tight. Our proof is essentially constructive; costs and val-
uations can be defined to to create an instance that produces the bound. Secondly, the welfare
ratio improves as the number of supplies increases. Specifically as R — oo, the bound tends to
é—g. Thus we obtain Corollaries 4 and 5.

So, as supply-side competition increases, the welfare ratio does improves. The opposite occurs
as demand-side competition increases. Specifically, adapting our approach gives Theorem 6.

4. CONCAVE MARGINAL COST FUNCTIONS.

The welfare ratio tends to zero if the cost function is linear, that is if the marginal cost
function is a constant; for an example see Appendix E. We can get some idea of how the welfare
ratio tends to zero for concave marginal cost functions by considering a class of polynomial cost
functions with degree 1+ é. These functions give a welfare ratio of at least d%, for any constant

d. A proof of this (Theorem 7) is given in Appendix F.

5. EXTENSIONS TO NETWORKS AND ARBITRARY MARKETS.

So we can analyze two-sided markets for bandwidth on a single-link network. We can generalize
these results to the case where bandwidth is shared over an entire network of links. Here agents
can buy and sell bandwidth on numerous links. Each consumer q is associated with a source-sink
pair and its payoff is a function of the maximum (s4, t;)-flow it can obtain using the bandwidth
it has purchased in the network. The welfare guarantees for the network model are the same as
for the single-link case. A formal description of the network model and a proof of Theorem 8
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is given in Appendix G. Moreover, if we identify links e € E with arbitrary resources, then our
results apply to a general class of markets with any number of resources. The exact definition
of these markets and a proof of Theorem 9 are also given in Appendix G.

6. SMOOTH MARKET-CLEARING MECHANISMS

It was shown in [3] and [6] that in single-sided markets, the proportional allocation mechanism
uniquely achieves the best possible welfare ratio within a broad class of so-called smooth market-
clearing mechanisms. This family has a natural extension to the case of two-sided mechanisms,
and we show that, given a symmetry condition, the two-sided proportional allocation mechanism
is optimal amongst that class of single-parameter mechanisms. A description of smooth market-
clearing mechanisms and a proof of Theorem 10 is given in Appendix H.
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7. APPENDICES

7.1. ApPENDIX A: COMPETITIVE EQUILIBRIA AND OPTIMAL WELFARE.
Here we prove Theorem 1; that is, we show that a competitive equilibrium exist and achieves
maximum welfare. A pair (b,p) where b > 0 and p > 0 is a called a competitive equilibrium if:

g (by,p) > Tp(bg,p) for all by >0, for every k=1,..., R+ Q

(b) Zq bq + Zr b”
b R
Thus, in a competitive equilibrium, the agents are maximizing their payoffs under the assumption
that they are price-takers. We will show that the necessary and sufficient conditions under which
the demand and supply allocations (d,s) induced by (b, p) form a competitive equilibrium are
identical to the conditions under which (d,s) is an optimal solution to (OPT).

We have already found the optimality conditions in Section 3. So let’s calculate the required
conditions for a competitive equilibrium. For a supplier, the payoff as a function of b is:

I (br) =p<1 - l;”) ~ O, (1_ l;)

Since this is differentiable and concave for all b, > 0 (recall that we assume that the right
derivative exists at b, = 0), the maximum occurs when the following conditions are satisfied:

C,C(1—2) > p if0<b. <p

C;<1—l;’"> < p if0<b.<p
To see this, note that when 0 < b, < p, we have II/.(b,) > 0. If II/.(b,) < 0 then we can increase
I1, by infinitesimally decreasing b, (and on (0, p] we can always choose a smaller b,.). The first
condition then follows. The second condition is derived analogously. Also observe that we can
let b, < p, since at b, > 0 supplier r will receive a negative payoff.

Similarly, we can write the payoff of consumer ¢ as a function of by:

b b
l) _ pl
p p

This is again concave by assumption, and the conditions are

by .
v, (p) = p if by >0
V,(0) < p if by =0

Next, define b, = (1 — s,)A and b; = dgA. Then it can be checked that the equilibrium con-
ditions above are satisfied with p = A. We must have A > 0 because Vq’(dq) > 0 by assumption,
and A > V/(d,) for all ¢. Thus there exists a competitive equilibrium and it is an optimal

Hq(bq) = Vq(

solution to (OPT). Finally, suppose (b, p) is a competitive equilibrium. Then define s, =1 — %T

and dy = %". Then we can check that the KKT conditions are satisfied, and the allocation is an
optimal solution to (OPT). This completes the proof of Theorem 1.
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7.2. ApPPENDIX B: THE EXISTENCE OF NASH EQUILIBRIA.
To prove Theorem 2 we show that the Nash equilibrium conditions obtained in Section 3 are
exactly the necessary and sufficiency conditions for the following system.

Q R
(NASH)  max Va(dg) = Cr(sr)
1 r=1

q=

Q R
s.t. Z dg = Z Sy
q=1 r=1
0<s < 1
> 0

where

~ dg\ ., 1 [
Vy, = 1—E V(dq)—i—ﬁ ; Vy(2)dz

N S 1 Sr
r = 1 ’ ! r) T &5 4 r
C < +R_1>C,,(S) R—l/o Cr(2)dz

By assumption, the Vq and C, are differentiable and strictly concave and strictly convex,
respectively. The KKT conditions for (NASH) then give:

Sp / .
< <
<1+R_1)CT(ST) < A if0<s, <1

Sr / .
> <
<1+R_1>Cr(3r) > A if0<s, <1

(—f;)vq’(dq) < A

<1—C;;j>v;1’(dq) > A if 0 < d,
where X is the dual variable corresponding to the equality constraint. These are the necessary
and sufficient conditions for an optimal solution. Since the objective function of (NASH) is
strictly convex, the optimal solution is unique.

We now claim that an optimal solution to (NASH) is a Nash equilibrium for the two-side
proportional allocation mechanism. Recall that for these price-anticipators, a Nash equilibrium
is a vector b > 0 such that for every agent k =1,...,Q + R,

Hk(bk,b,k) > Hk(i)k,b,k), for all Bk > 0

As before, define b; = dgA and b, = (1 — s,)A. Then one can check that the Nash equilibrium
conditions are satisfied with p = A\. We must have A > 0 because V(d,) > 0 by assumption and
A > Vq’(dq) for all g. There are at least two positive bids because otherwise the supply equals
demand constraint of cannot be satisfied.

Conversely, we claims that any Nash equilibrium is an optimal solution to (NASH). To see
this take any Nash equilibrium (b,p). Then define s, = 1 — be and dg = %". Then we can

easily check that the KKT conditions are satisfied, and the allocation is an optimal solution to
(NASH). This completes the proof of Theorem 2.
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7.3. APPENDIX C: COMPUTING THE WORST CASE WELFARE RATIO.
So we have to solve the optimization problem (51)-(53). We will consider R as a parameter. At
the minimum of (51), we will have either

s(l+s/(R—-1)) <1 or (55) s(1+s/(R—1))
p p
When (54) holds, we solve the following system:

(54) >1

(1—p)?+ps —p/2m

(56) min s(1+s/(R—1))
2p

(57) s.t. s(1+s/(R-1)) <
(58) 0<s <1
(59) 0<p < 1

Now set W = R — 1 and let g be the objective function (60). Thus

(1-p)? p pW
= 2pW —
9ls) = 2p <5(W+s) Wi aW e

Differentiating we obtain

0 W

= = _m (1= p)2(W +25)(W + 5) + ps°)
and this is strictly negative for any W,s. Therefore, the optimal value of s must occur at
one of the boundaries of the feasible region. Since g is strictly decreasing in s, we must have
s(1 4+ s/W) = p. Thus it is enough to consider a variant of the second case (55) in which the
inequality is no longer strict. Observe that the point at which the minimum of (56-59) is achieved
is also part of the feasible region of the following new optimization problem:

(1—p)* +ps — sy

(60) min T 5

2s(14+s/W)
(61) s.t. s(I+s/W) > p
(62) 0<s <1
(63) 0<p < 1

Let f denote the objective function (60). We have
of  2p (25T —W?2((p—1)* +ps — s?) + Ws(—2(p — 1)® — 3ps + 4s?))
s (pW — 25(W + s5))?
and at s = 1 this becomes
0f (g py = 2+ (2 —p 2p )W + (p — )pW?)
9s "’ (p—2)W —2)?

which is always positive since each term in the numerator is negative. But by the KKT conditions,
df /0s must be negative at s = 1 if that point is the minimum, and therefore we must rule out
that possibility.

Similarly, when constraint (61) is tight, df/0ds becomes

8f_2( 1 4s 45 24 W2—1>

9ol w242 _ = = 7 T
Os 8+W %% W2+W—i—s

It can be checked that this is always negative. But, as before, if constraint (61) is tight at the
minimum, 0f/ds must be positive, and we again have to rule out that possibility. Finally, we
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cannot have s — 0 at the minimum, since the objective function would go to one in that case.
Thus, at the minimum, we have

of  2p(2s" = (S—1)*((p—1)* +ps —5°) + (S = 1)s(=2(p — 1)* - 3ps + 457))
0s (pS — 25(S + 5))?
Solving this equation for p, we find that
L _SC2-s)+(A-3s)s %«/W(s)
P 2(S + 25)

where

v(s) = 165" + 105%5(3s — 2) + S3(5s — 4) + Ss?(49s — 24)
When we plug either p™ or p~ into the objective (60), we find (quite surprisingly) that the
objective function reduces to the same simple expression in both cases. The optimization problem
(60)-(63) thus becomes:

52(S? + 455 + 25%)

(64) i S(S+ 2s)

(65) s.t. 0<s < 1

(66) 0<pt < 1

(67) s(14+s/S) > pt
(68) pi e R

It is not hard to show that the objective function (64) is strictly increasing in s. The minimum
value is thus achieved at the smallest feasible s. For condition (68) to be satisfied, we must have
7(s) > 0. One can check that v(s) has only one zero s* on [0,1], with y(s) > 0 for s > s*.

Furthermore, at s*,
S(2—s* 4 —3s*
e SR-s) -3
2(S + 2s*)
and constraint (66) holds. Finally, one can check using a computer that (67) holds for all s.
Since s* is the smallest feasible point in our domain, we conclude that the minimum is achieved

at that point. This finally proves the main claim of Theorem 3.
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7.4. APPENDIX D: POSITIVE MARGINAL COSTS AT ZERO.

Here we consider the case where C.(0) > 0 and show that the welfare ratio remains a constant
provided C.(0) is bounded below one. Specifically, assume C.(s,) = 53,52+~ where 0 < 7, < 1.
Then we can follow the original proof and find that the welfare ratio is the solution to the

following problem:

. (1 =p)*+ps — 5 (a7t —V)s — 7
minimize — R = —
min(=5*, 1) — 38 min(=5?,1)? — ymin(=2,1)
s.t. 0<s<1
0<p<1
0<~<1

where

B= D :
“\Urs/r-1 )
As before, we have two cases to consider. First suppose 1 —~ > (.

(1 =p)*+ps — 5 (a7t — V) — 7

minimize n
p
L—3 (1+s/(R—1) -7

1
s
s.t. 1—72<p—7>120
1+s/(R—-1) s
0<s<1
0<p<1
0<~y<1

We claim that for any fixed v < 1, the solution to this problem is strictly positive. First, we can
drop the % (m -y % term from the denominator, as this can only decrease the value of
the objective function. We will also let R — oo in the numerator. The objective function then

becomes

2
1-p)*+5-F%

minimize 1=~
s.t. 1—’y>(p_fy>1>0
“\1l+s/(R-1) s
0<s<1
0<p<l1
0<~y<1

If there is a pair (p, s) that makes the objective function go to zero, it must satisfy

ps s 2(1 - p)?
1-pP?+= -2 = s=
A=p)"+5 — po——
Observe that since s > 0, we must have v > p. But by the first constraint, we have p > =,
a contradiction. So the point at which the objective function is outside our domain, and since

that set is closed, we also cannot get arbitrarily close to that point.
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Suppose now 127 < 1. Then the optimization problem is

B
(1 —p)* +ps — 5557t — Vs — 78

minimize
- (U -y
s.t. 1—v<p
0<s<1
0<p<1
0<~y<1

and the denominator can be rewritten as
(1—7)? s
O—v—fz—vﬂ—v)p_
T+s/(R-1) 7V
If the objective function goes to zero, then either the denominator goes to infinity, which
can only happen when 8 | 0, or when the numerator goes to zero. The first case cannot occur
because of the 1 —y < [ constraint. The second case can be treated like above: if the numerator
is zero, we must have
2(1-p)°
YD
which implies v > p, but from the 0 < 1 — v < 3 constraint we get that p > ~.

S =
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7.5. APPENDIX E: CONSTANT MARGINAL COST FUNCTIONS AND TOTAL WELFARE LOSsS.
Here we show that if the marginal costs are constant then the welfare ratio tends to zero.
Consider linear valuation and cost functions with slopes o and 3,, respectively,

Valdg) = agdg
Cr(sr) = ﬁrsr
The bids corresponding to this allocation at a Nash equilibrium can then be defined according

to the equilibrium conditions developed in Section 3. We will parametrize the allocations and
the functions by a variable 0 < z < 1 and then let x — 0. So, let

Sy = T Vr
po= 1*%

1— 2
B, = HR% Vr
d, = R% Vg
ap = 1 Vq

Observe that

and that 0 < s, < 1 and dy > 0. This shows the above allocation is a feasible solution to
(NASH). Next we will show that the KKT conditions hold at (s,d) with A = . This will imply
that the allocation (s, d) corresponds to a Nash equilibrium. We have

a(t-5) - ()

T
= 1——

Q
=P

Sr
Br <1+R—1>
1z
_ Q £
B <1+Rx1> <1+R_1>

= D

For the firms, we have

citon) (14 725)

Thus the KKT conditions are satisfied, and so these allocations form a Nash equilibrium.
The expression for the welfare ratio can be written as

Y Vo dVEY =R Co(sNE) S ag(dlE) = I B(sNE)

S V(d9PT) — SO O (s9PT) R-YF 5,
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This equality holds because every supplier 7 that has s¥* > 0 has a slope 3, < 1. To see this
observe that by the KKT conditions, whenever d, > 0,

p 1
V)(dYF) = S e el Cr(sF)
1—§ R—1

and recall that 4 < 1. Also, if §, > 1, that supplier will not produce anything (neither at the
Nash equilibrium nor at the optimal solution). So, without loss of generality, we can remove
that supplier away and, thus, consider only the cases where (3, < 1. Since for any supplier the
marginal cost of producing one unit is always less than one, in an optimal solution everyone
produces s, = 1 and gives it to the consumer with slope a; = 1.

Now putting our definitions in the formula, we obtain:

S ag@¥F) - SR g sME) Tl
R— 25:1 /Br

@\8

&

St (i)
()

RG -
R-Y
R( ’f
_R f

T+
1
==

)
)

The result follows by simply letting x — 0.
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7.6. APPENDIX F: CONCAVE MARGINAL COST FUNCTIONS.

Suppose C(s;) = ﬁsiﬂ/ “ for some fixed d. The reduced optimization problem is:

(1-p)*+ps— (572) (577=1)
min(1/8, 1) — (1573) min(1/, 1)1+1/4
s.t 0<s<1
0<p<I1

minimize

where
p

b= AT s/ (R=1)
First suppose that 1/3 > 1. The optimization problem is:

(1=p)* +ps — (h72) (57m1)

minimize

1
1= (1+]i/d)(sl/d(1+s/R—l))
S
s.t sV/if14 -2 >
< R-1)=7F

0<s<1

0<p<l1
We can lower bound the objective function by setting the denominator to one. We can also let
R — oo in the objective function. Then the objective function becomes

(1_m2+<1_1+1ﬁ0p8

and the only way this can go to zero is if s — 0,p — 1. But it’s not hard to see that for any d,
this is impossible by the first constraint.
Suppose now that 1/8 < 1. The optimization problem is:

(1—p)*+ps— (%ﬂ/d)(Wqu)

minimize 1/ﬁ _ (ﬁ)(l/ﬁy/d
s.t 1<p
0<s<1
0<p<l1

This goes to zero either when the denominator goes to infinity, which can only happen when
G | 0, or when the numerator goes to zero. The first case cannot occur because of the 1 <
constraint. The second case can be treated as above.

A welfare ratio of Q(d%) can then easily be shown.
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7.7. APPENDIX G: EXTENSION TO NETWORKS AND ARBITRARY MARKETS.

The case of consumers and suppliers simultaneously competing over a single link can be naturally
extended to the case of a network of links. This network model is based upon the work of [3]. We
will model the network as a graph G = (V, E) with L edges, called links. There are @) users, each
characterized by a source-target pair of nodes sq,t, € V, ¢ = 1,...,Q, as well as R providers,
each capable of providing service over a subset L, of links Iy, ...,1r,., where r =1, ..., R.

Each consumer wishes to send flow from its source to its target. For this reason, we define P
to be the set of paths in the graph G, and we say that a path p € P belongs to ¢ € Q (denoted
p € ¢q) when p connects sq,t;. We assume without loss of generality that each path belongs to
only one ¢. If some path pj, is shared by ¢; and g2, then we simply define two paths pg,, pg, in
P that contain the same links.

Furthermore, we let fg, denote the flow that consumer ¢ sends over the path p, and let
fo =2 peq far = 2_pey fp denote the total flow sent by g. In the last equality, f, is the total
flow on path p, and we have f, = f,4 since path p only belongs to consumer ¢. Each consumer
has a valuation function V; and receives a value of V,(f;) for sending a flow of f,.

We will make the following assumption on the valuation functions:

Assumption 3. For all g, the valuation functions Vy(f,) : RT™ — RT are strictly increasing and
concave. QOuver f, > 0, the functions are differentiable. At f; = 0, the right deriwative exists, and
is denoted V,;(0).

In turn, each producer r can supply bandwidth at a subset L, of the network links, and we
denote this I € r for [ € L,. We also assume that the costs of providing bandwidth at one link
are independent of the costs at any other link. Formally, each producer r has |L,| cost functions
Cr, L =1,...,|L,| satisfying the following assumption:

Assumption 4. For all v,1, there exists a continuous, convex, and strictly increasing function
pr(t) : RT — R such that p(0) = 0, and for all s,; > 0 we have:

Srl
Orl(srl) = / DPri (t)dt
0

and for s, € (—00,0) we have Cp(sy) = 0. The cost functions C,; : R — RY are thus
continuous, strictly convez, strictly increasing, and differentiable over their entire domain.

Let s,; be the bandwidth supplied by producer r at link [ € L,, and let s, = (s,1, ..., ST‘LT‘)
be the corresponding vector. The total cost to r is then defined to be Cy(s,) = > cp Cri(sp)-

The social objective in this model is again to allocate flow and supply allocation so as to
maximize the aggregate surplus. Formally, we want to come as close as possible to the result of
the following optimization problem:

Q R
maximize Va(fq) — Z Cr(sy)
1

q= r=1

such that f, = Z fp Vg

PEQq

dosn=) SVl

r:ler p:l€p
0<fqVq
0<sy<1
Definition of the Mechanism. Consumers and suppliers now submit vectors of bids w, and w,

(respectively). We define wy := (wgu, ..., wq||) where wy; is the bid to link I. The vector w, is de-
fined in the same way. The collection of all the bids is denoted w = (w1, ..., WQ, WQ+t1, ..., WQ+R)-
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At each link I, a consumer ¢’s bid selects a demand function of the form

T wg; > 0
69 c = I
(©9) o) {0 if wyy = 0
and producer 7’s bid selects a supply function of the form
1— %L ifw,y >0
70 = e
(70) sri(tu) {1 if 1wy = 0

Then at each link, the mechanism then sets a price p;(w;) that clears the market by setting the
price to
Zq:leq Wql + Zr:l@" Wri
Ry

where R; is the number of producers competing at link .

Consumer ¢ then gets allocated a capacity of cg, and pays for it pcq, while producer r
provides s;; units of bandwidth and receives a payment of p;s,;.

Once all capacities have been allocated, consumer ¢ solves a max-flow problem on G with
edge capacities set to cq, and with the source and target being s, and t,. Hence we have

p(wy) =

fo(w) = max-flow(G, cg(W), sq, tq)
This mechanism induces a game where the payoff to consumer ¢ is
Tq(Was W—q) = Vg (fq (Wgs Ww—q)) — qul
leq
and the payoff to producer r is

T (Wi wop) = Y pu(w) =Y wa =y Cr (1 T >

ler ler ler qleq Wal + 2rier Wri

Existence of a Nash equilibrium.
Definition. A game is said to be concave if the following holds:

(1) Every joint strategy, viewed as a point in the product space of the individual strategy
spaces, lies in a convex, closed, and bounded region R in the product space.
(2) Each player’s payoff function is continuous and concave in its own strategy.

Theorem 11. (Rosen [13]|) Every concave n-person game has an equilibrium point.
We now apply this to show that a Nash equilibrium exists in our game.
Theorem 12. The extended resource allocation game has a Nash Equilibrium

Proof. We have to show that our game is concave.

First let’s look at condition 1. Fix a consumer ¢, and a response vector w_,. By definition,
w, > 0. Also observe that my(wg; w_g) < m(wy; 0) for all w,. Also, since the allocation to ¢ at
link [ is R; for any wg > 0 as long as w_g = 0, there is a Wy s.t. for wq > W, my(wg;0) < 0.
Thus we can restrict without loss of generality the consumer bids on [0, W] where W = max, Wj,.

The same thing can be shown for producers. Fix a producer r. Observe that

(W Wop) = Zm — Zwrl — Z Cri (sr1)

ler ler ler

E:q¢rquql+_§:qzuﬂ 1
- 3 me R 5 (1) = Y Cuton)

ler ler
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Suppose wy; > R;Cy(s) for all . Then
Wyl + w
WT(WTQW—T) = Z Zq;«ér ql Z a ZRZCH Srl

ler rel
wa + Z Wql
< Z q;ﬁr Z Crl(srl)
ler rel
= 7rr(0a Wfr)

and the producer could profitably deviate to 0. It’s not hard to apply this reasoning sep-
arately to each link, and deduce that we must have w,; < R;Cyi(s;) VI. This shows that
we can assume without loss of generality that the payoffs are chosen within [0, M| where
M = max (max,; RCy;(1), W).

Next, we have to show that the payoffs are continuous and concave on our compact set.
Observe that 7, and 7, are discontinuous when the response vectors w_,, w_, equal 0. For this
reason, pick two producers r1 and ry arbitrarily and restrict their strategy space to [e, M| while
keeping the other strategy spaces at [0, M]. We will first show that the game resulting from this
restriction is concave, and then we will explain why that restriction can be made without loss of
generality.

Given the restriction, the payoffs m, and 7, are continuous in wgy, w, since the response vector
is always non-zero. It is also straightforward to see that m,. is continuous and concave in w.
To see that m, is continuous, observe that every function in the composition V,(f,(cq(wy))),
particularly the max-flow function, is continuous in w,. Also, since ¢, is continuous and f; is
non-decreasing, we have that f, is concave. Then it follows straightforwardly that V; is concave
in wy.

By Rosen’s theorem, we can then conclude that a Nash Equilibrium exists. ([

The Welfare Bound.

Theorem 13. In the extended resource allocation game, we have

Q R 9 R
NE NEy oo S2(S? +45s + 257) NE
Z::Vq(q )—;Cr(sr ) > int - 5555 ZV ;Cr(sr )

where s is the unique positive root of the polynomial
v(s) = 165* + 105%s(3s — 2) + S3(5s — 4) + Ss?(49s — 24)

This value can be numerically evaluated to approzimately 0.588727.
Furthermore, this bound is tight.

The idea is to first characterize the Nash equilibrium in terms of capacity allocations to
consumers and supply allocations to producers. Then we can linearize the utilities like in a
single-link case, and essentially set for each consumer a separate valuation function for each link.
Doing so will reduce the extended game to |L| single-link games, to which we will apply our
existing bound.

First, we need to show that given a response strategy w_,, for every capacity ¢y there exists
a bid wy that ensures ¢ gets that capacity.

Lemma 14. The joint strategy w is a Nash equilibrium if and only if the following holds:
1. At every link l, there are at least two suppliers r1,72 that have positive bids wy, , Wy, .
2. For each q,

cqy(w )Gargmax Va(fe(Sq)) Zw (Cqt, W—gq)
leq
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where cq is defined according to (69) and w(cqu, w_1) is a function that satisfies
cq(y, W—q) = x if and only if w(ﬁl(fc,w,q) =y
3. For each r,

_ Wy
W, € arg max Ml(W)— Wyl — Cull-—
’ w <Z Z ' Z ' Zq:lEq Wql + ZT:ZGT Wry

ler ler ler

Proof. Suppose w is a Nash equilibrium. The first claim follows as before. To establish the

existence of w™!, we observe that since w_q # 0, ¢y (consumer ¢’s capacity at link ) is a

continuous function of wgy (consumer ¢’s bid at link 1). Furthermore, cy(z,w_g) is strictly

increasing in x, cq (0, w_g) = 0, and lim, .o ¢q(x, W_g) = 00. It then follows that w™! exists.
If w, is part of a Nash equilibrium, then by definition we must have

Wy € arg max (W, W_g) = arg max Vg (fq (cq (W;w_y))) — Z Wy
leg
The second claim follows from this fact. Suppose that it does not hold. Then, given w_,, there
is a ¢ that results in a higher payoff. But then using the functions w; we can find a vector of
bids that will result in a higher value for m,, which is a contradiction.

Finally the third claim holds by definition of a Nash equilibrium.
The other side of the implication can be established by reversing the argument above. O

Since V; is composed with the max-flow function, which may not be differentiable, we need
to use the following tools from convex analysis.

Definition. We say that v is a subgradient of a convexr function f : R® — R at xq if for all
x € R™ we have

f(a) > f(zo) +" (& — o)
The set of all subgradients of f at xq is called the subdifferential and is denoted O(f(x¢)). The

supergradient and the superdifferential are the equivalents of a subgradient and a subdifferential
for a concave function.

Lemma 15. Let w be a Nash equilibrium. Then for every consumer q there exists a vector ay
such that the linearized valuation function

V(@) = ay (€= eq(W)) + Vyleq(w))

satisfies the following relationship:

(71) cq(w) € argmax | Vy(c) — > wy (Cq, wog)
leq

In other words, wg is also a Nash equilibrium for the game where V; has been replaced by Vq.
Moreover, the payoffs at w in the new game remain the same.

Proof. We can assume without loss of generality that V;(c,) is a convex function of ¢, € R by
extending it appropriately to the entire domain. Also observe that ¢y = wg/p(w;) is concave
in wq, which implies that w(ﬁl(cql, W_g1) is convex.

Recall that the payoff to ¢ as a function of its allocated capacities is

mq(Cq, W—q) = Vg (f4(Sq)) — Zw;(éqlaw—q)

leg
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and it is concave. Then by the properties of subdifferentials we have
O(—mq(Cq, Ww—q)) = O(—Vq(cq)) + me(ﬁl(cqlvwftﬂ))
l

The addition here is defined over sets:
A+B={a+blac Abe B}

From condition 2 in Lemma 14, it follows that 0 € 9(—m4(€q, W—g)), and from the property
above we can deduce that there exist vectors ag € 0(—Vy(¢cq)) and By € O(wy, H(eqty W—g1)) such

that ag = >, By
To show that (72) holds, it is enough to show that O is a supergradient of

77—(1((_211’“7*(1) = ‘_/q(éq) - E w(ﬁl(éqlvw—ql)
leg
As before we have

I(—7q(Cq, Ww—q)) = 0(=Vg(cC +Z@wl (Cqts W—q1))

Since we still have o, € 9(—V,(c,)) and By € O(wy, (cql, _q1)), it must be that 0 € 9(—74(Cq, W—q)).
O

Now we can prove the main result

Proof. (of Theorem 13) We will first show that when each consumer has a linearized valuation
function V,(c), the extended game reduces to |L| single link games, to which the bound can be
independently applied. Then we will prove that the price of anarchy of the game with linearized
valuation functions is a lower bound for the price of anarchy with regular valuation functions,
and thus establish our claim.

By Lemma 15, we know that if w is a Nash equilibrium, then

cg(w )Gargmax V(e qul (Cqt, W_q)
leq

But this is equivalent to

Cq(W) € arg mgx Z Cql (qu - qu(W)) + V qu qul Cqls —ql)
leg leq

and therefore
Cql € aIg max (O‘ql (Cqr = cq(w)) + Voleq(w) /| Lq| — wtﬁl(éqla W*ql)>
q

For all the suppliers serving link I, we have from part 3 of Lemma 14

Wyl
wy € argmax | pu(w) —wp — Cry [ 1 —
' w ( " ' Zq:léq Wql + Z'I’ZZGT Wrl

Thus the vector of bids w; is a Nash equilibrium of a simple single-link game and

Q
> (gt (7 = cq(w)) + Voleq(w) /1 Lgl) — Z Cry(sp(wh P, whEY)

q:leq r:ler
Q R

> | > (aq (cg® = calw)) + Volea(w)/|Lql) = Y Culsnlwq”;woim)

q:leq r:ler




27

where ¢ is the bound defined in the theorem.
Now we can use this to bound the price of anarchy of the extended game. We have

Yo Valfale™) =55 Crs)7) S Valed®) = S5, Cr(s)

> Valfa(€QPT) = S50, Co(sOPT) — S0, Va(eQPT) = 37, Cr(s9TT)

S ey (v (F = calw)) + Valeww)/|1Lo]) = XIy Tie, Crlsn(wlFiwiiE)
22 ey (v (7 = caw)) + Vileq(w) /1Ll ) = S5y Ser Cralsn(wGPTs wOET))
2 [Sares (v (N = calw) + Valeaw)/1Lol) = Srac, Crlsn(wlFiwiE))]
S [Sareq (ar (87T = c(w)) + Vleq(W)/ILg]) = Srer Crilsn(wGPTs wOET))|

2

In the first inequality we used the fact that V,(w™?) = V,(w™¥) and V,(wOT) > V, (wOFT).
In the following equality the utilities and cost were expanded according to their definitions, and
on the third line we inversed the order of summation. Finally, in the last inequality we used our
existing bound |L| times. O
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7.8. APPENDIX H: AN OPTIMAL SMOOTH MARKET-CLEARING MECHANISMS.

Here we modify the arguments of [3] and [6] to show the proportional allocation mechanism is
optimal within a class of mechanisms. First, we will present a formal definition of the general
type of mechanisms that we consider. We will again call the vector of bids w.

Definition. A smooth two-sided market-clearing mechanism is a tuple of functions (D, S),
D : (0,00) x [0,00) — R, §: (0,00) x [0,00) — R such that for all Q,R, and for all w €
RO 4y £ 0,w > 0, there exists a unique p > 0 that satisfies the following equation

Q R
> Dylp,wg) = Se(pwy)
r=1

q=1

We denote it as p(w). Each consumer receives an allocation of D(p,wq) and pays pD(p,wq) to
the mechanism. FEach supplier produces S(p,wq) and receives in return a payment pS(p,wg).
The payoff to consumer q with valuation function Vg s

q(wq) = Vo(D(p,we)) — pD(p, wg)
while the payoff to supplier v with cost function C, is
ﬂ'r(wr) = pS(p,wr) — Cr(s(pa wr))

Finally, if w =0, the payoff to any consumer and any supplier is —oo.
We will restrict valuation functions to the following class.

Definition. The set U constains all valuation functions U(d) : RT — RT that are strictly
increasing and concave over d > 0. Quver d > 0, the functions are differentiable, and at d = 0,
the right derivative ezists, and is denoted U(0).

Similarly, we restrict our attention to the following class of cost functions

Definition. The set C contains all cost functions C(s) : R — R* of the form

) Sp)de if s >0
Cls) = {OO ifs<0

where p(t) : RT — RT is a continuous and strictly increasing function, and p(0) > 0. The class
Ceonv C C contains all cost functions such that p(t) is also convex and p(0) = 0.

Observe that the class C is more general than what we had before since we no longer require
that p() be convex and that p(0) = 0.

The next definition defines the class of mechanisms among which we will derive the optimality
of our mechanism.

Definition. The class M contains all smooth two-sided market-clearing mechanisms (D, S) €
M that satisfy the following criteria:

(i) For all U € U, the payoff to a consumer with valuation function U is concave when the
consumer is price taking. That is, for all p > 0,U € U, the function

is concave for w > 0. Similarly, for all C' € C, the payoff to a producer with cost function
C is concave when the consumer is price taking. That is, for all p > 0,C € C, the
function

is concave for w > 0.
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(i) For all @, R > 1, and for any @) consumers with valuation functions Vi, ..., Vg € U, and
for any R suppliers with cost functions C1, ..., C; € C, each consumer’s and each supplier’s
payoff when they are price anticipating is concave. That is, for each i = 1, ..., @ and each
response vector w_;, the function

g (wg, w—i) = Vo(D(p(w), wq)) = p(w) D(p(w), wy)

is concave. (By w we denote the joint strategy vector (wq,w—_;).) Also, for each j =
1,..., R and each response vector w_;, the function

Wr(wra w*j) = p(w)S(p(w), wr) - Cr(s(p(w)a wr))

is concave.

(iii) The demand function D is non-negative: for all p > 0, and all w > 0, D(p, w) > 0. The
supply functions are bounded from above: there exists a K s.t. for all p > 0 and all
w >0, Sp,w) < K.

(iv) The competitive equilibrium allocations are optimal.

(v) The demand and the supply functions are symmetric in w in the sense that for all p > 0,
w > 0 we have

oD 0s
%(p, w) = —%(p, w)

The first four criteria are a straightforward generalization of the classes of mechanisms studied in
the fixed demand and fixed supply cases. The fifth criterion is a symmetry condition. Roughly, it
states that both sides of the market should use the same kind of demand and supply functions.
Optimal demand and supply functions for one-sided markets are indeed symmetric, and it is
reasonable to give both market sides the same power to express their preferences; hence this
condition is not unnatural. However, we leave open the question of whether better efficiency
guarantees exist for assymetric markets.
Finally, we define the optimal allocation to be the optimal solution to the following system:

Q R
maximize Z Vy(dg) — Z Cy(sr)
r=1

q=1
Q R
(72) such that Z dg = Z Sy
q=1 r=1
0<s,.<1
0<d,

Identifying the form that mechanisms in M can have. In this part, we will not use
the symmetry assumption on M. First, we start by establishing that the demand and supply
functions must be affine.

Lemma 16. Let (D,S) € M. Then there exist functions a(p),b(p) : (0,00) — R* such that for
allp >0 and all w > 0, D(p,w) = a(p) + b(p)w.

Proof. We have to show that for a fixed p > 0, D(p, w) is both a concave and a convex function
of w. We will deduce this from criterion (i).

Let U(d) = ad for some a > 0. Note that U € . Then m = (a — p)D(p, w) must be concave
in w by criterion (i). Thus if & > p, D(p,w) must be concave and if o < p, D(p, w) must
be convex, so the function is actually affine. To show that a(p),b(p) > 0 for all p, recall that
D(p,w) > 0 for all w,p by Def. 4.3, and consider the cases where w = 0 (to show a(p) > 0) and
the limit as w — oo (to show b(p) > 0). O
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Observe that by the symmetry assumption (v), we have S(p,w) = c(p) — b(p)w for some
¢(p) : (0,00) — R. However, that assumption is not necessary to esablish that S(p,w) is affine
in w. The following lemma, whose detailed proof omit, formally states that.

Lemma 17. Let (D,S) € M. Then there exist functions c(p) : (0,00) — R and d(p) : (0,00) —
R such that for all p > 0 and all w > 0, S(p,w) = c(p) — d(p)w.

Proof. (Sketch) This is again deduced from Definition 4. We consider a cost function C(s) = 3s?
where d > 1. We compute d?7/dw? and show that unless 925/0w? = 0 for all w, p, there is a
choice of w,p, 3,d such that d?7/dw? > 0 at w,p. In one case, we have to take d sufficiently
close to 1. g

The next lemma uses criterion (iv) to further narrow down the possibilities for D(p, w).
Lemma 18. Let (D,S) € M, with D(w,p) = a(p) + b(p)w. Then for all p we have a(p) = 0.

Proof. We will show that when a(p) # 0, we can construct a competitive equilibrium at which
some bids must necessarily be negative.

Suppose Jp such that a(p) # 0. Let there be @ suppliers and R producers. Choose the
@ allocations such that for all i = 1,...,Q we have 0 < d; < a(p), and choose the R supply
allocations so that supply equals demand.

Then choose the utilities and costs such that this allocation is optimal. The valuation functions
should be strictly concave with Ué(dq) = p, and the cost functions should be chosen so that
C/(sr) = p (recall that they are strictly convex by assumption).

Observe that these allocations are an optimal solution to (72) (in particular, they satisfy the
optimality conditions given in a previous document with Lagrangian variable p). Because of the
strict concavity and convexity assumptions we made, this solution is unique.

Now let w be a competitive equilibrium with the utilities and cost functions we just defined.
Let p be the price at that equilibrium. By (i), it exists for every p, and by #4 it must be optimal.
Since the solution to (72) is unique, we must have D(u, w) = d,. By our assumptions on the
convexity, and the KKT theorems, the dual variables must also be unique and so p = p.

But then observe that for consumer ¢,

D(p, wq) = a(p) + b(p)wg = a(p) + b(p)w, = dg < a(p)

where the inequality follows from our initial definition of d4. This can only hold when w, < 0,
but this is prohibited by assumption, and so we have the contradiction we wanted to obtain. [

The next lemma shows we can similarly fix the value of ¢(p) in the definition of S(p,w) to a
scalar.

Lemma 19. Let (D, S) € M, with S(w,p) = c¢(p)+d(p)w. Then for all p we have c(p) = K* :=
Supp,w S(pv ’U))

Proof. The proof in the same spirit as that of the previous lemma. We will show that if ¢(p) < K*,
then we can define a competitive equilibrium where some of the bids must be negative.
Suppose there is a p such that ¢(p) < K*. Let Q, R > 1, let s, be such that ¢(p) < s, < K*
and s, > 0, and let d; be such that demand matches supply. Let the V;, be strictly concave with
V,(dq) = p and let C; be such that Cj(s,) = p. Like before, this is an optimal solution to (72).
Then let w be a competitive equilibrium with the same utilities and costs. Like in the last
proof, S(u,w,) = s, and u, the price at the competitive equilibrium, must equal p.
But then for consumer r we have

S(pswy) = c(p) — d(p)w, = c(p) — d(p)wy = sr > c(p)
and again this can only hold if w, < 0. (|
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This concludes the results of this part. We have shown that all the mechanisms in M must
have the form

D(p,w) = b(p)w
Sp,w) = K —d(p)w
and if we use our symmetry assumption, then b(p) = d(p). Finally, observe that if we divide

S(p,w) by K*, the resulting mechanism is still in M, so from now on we will assume without
loss of generality that S(p,w) is of the form

S(p,w) =1-d(p)w

An Optimality Result. In this part we will adapt the optimality argument for Kelly’s mech-
anism to our case. The main result is this theorem:

Theorem 20. Out of all smooth two-sided market-clearing mechanisms (D,S) € M, the pro-
portional allocation mechanism achieves the best possible welfare ratio in the game with Q > 1
consumers with utilities V1, ...,Vg € U and R > 1 suppliers with costs C1, ...,Cr € Ceony-

The first step is to express b(p(w)), d(p(w)) as a function of w. When supply matches demand,
we have
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b(p(w)) =

On the third line we used our symmetry assumption. From that it follows that
w
D(p(w),wy) = 1 R
’ R
Zqul Wq + g Wr
W

S((w)w) = 1- R
ZéQzl Wq + Zf:l Wy

We will also use the following function:

S
1/b(p) := B(p) = 2g=1 q;2r1

Since p is assumed to be uniquely defined for all @, there must exist an inverse function ¢ :
(0,00) — (0, 00) such that B(x) = y if and only if ¢(y) = x. Thus

Equl wy + 0w,
(73) pw0:¢< 7 - >

The following lemma establishes that ¢ must be convex

Lemma 21. The function ¢ : (0,00) — (0,00) is surjective, conver and differentiable.
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Proof. Surjectivity holds because p(w) can clearly take any value p > 0 (by the definition (73)
and the fact that the bids can take any value).

Differentiability of ¢ follows from the differentiability of b, which in turns follows from the
differentiability of D and S.

Convexity is proved using #2 in Definition 4. First observe that since

g (wg; w—i) = Vo(D(p(w), wq)) = p(w) D(p(w), wy)

must be concave, p(w)D(p(w),wq) must be convex, since otherwise we can pick V; = a4d, for a
very small oy and obtain a contradiction.

But
ZQZI w + ZTJ'%: Wy w
p(w)D(p(w),wq) = ¢ ( = 1 7 : ) — R
Doge1 Wq 2,1 Wr
and when w_; = 0, this becomes
w
p(w)D(p(w),wy) = 6 (2) R
implying that ¢ is indeed convex. ([

Our next step is to establish necessary and sufficient conditions for a Nash equilibrium, given
a mechanism (D, S) € M.

Lemma 22. Let (D,S) e M, R,Q > 1 and Vi,...,.Vg €U, C4,...,C € C. A vector w is a Nash
equilibrium if and only if at least two components of w are non-zero, and there exist a non-zero
vectors d,s > 0 and a scalar p > 0 such that wg = pdq, wy = psy, >, dg = >, sy and the
following conditions hold for consumers:

Us(dy) (1= %) =00 (1= %) + &' (n i dy >0
UL(0) < o(u) if dy =0

and the following conditions hold for suppliers:

Crlse) (14 7255 ) <o) (1+ 727 ) —d(Wngzs if0<s <1
Crlsr) (1+727) 2 0(w) (1+ 72 ) —d'(Wngss if0<s <1

Proof. Suppose w is a Nash equilibrium. Since the payoffs are all —oo when w = 0, we must
have w # 0. If less than two components of w are non-zero, then, as before, we may show that
there is no Nash equilibrium.

So suppose w # 0 and at least two componnents are positive. Then all the payoffs are
differentiable in the user’s bid, and so the following conditions are necessary and sufficient
conditions for a Nash equilibrium. For a consumer:

% . V/ 'qu R R _ wqR
8wq 1 Zq wq + Zr Wy Zq wq + Zr Wy (Zq wq + Zr wT)2

s (quﬁerr) R - wyR
R Zq Wq + Z’r Wy (Zq Wq + Z’r wT)Z

_¢/<quq;err> (Z wa—l’)_qZ - ) :Oiqu>0
q r T

<0if wg =0
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For a supplier:

om. quq+2er Wy
mf”( R >ZWﬁZWr

+¢<quq+ZTwr> ( R +( wyR >

R _Zq Wq +Zr Wr Zq Wq +Zr wT)2

_ Wy R B R n wrR
" Zq Wq + Zr Wy Zq Wq + Zr Wr (Zq Wq + Zr wT‘)Z
Zk;& i Wk
>0if 0 < w, < =272~
>0i wy < o1
o Lk
R-1
After substituting p = (3_, wq + 32, wy)/R, dg = wq/p, sy = wy/p we get the conditions in the
theorem.
For the other side of the implication, we simply reverse the argument above. O

<0if 0 < wy

Now we can start proving the main theorem applying similar arguments to before. Let (D, S) €
M be fixed. This also fixes a function ¢. As before, the worst case welfare ratio corresponds to

o X Valdy®) = YL Gr(sF)
St Vald9PT) = 32, O (s9PT)

subject to the conditions for a Nash equilibrium. Since we assume V; € U and C, € Ceony We
can linearize the utilities and the marginal cost functions and instead consider the following
optimization problem:

R
Zqul O‘qdéVE - % r=1 Br(sF)?

R R
a1 Zr:l SQPT - % Er:l IBT(SQPT)2

dg® o\ o da” NE

(74) min

dNE
(76) ay (1—3% < o) Vg
77 e (), st P sty 0<sVE <1
r L < r — r t. <
(77) Brsy <+R_1)_¢(M)< +R—1) qﬁ(,u)uR_l rs <s' P <
NE (| GNE , GNE / GNE y e _
- > - — r t.0<
(78) Brs;. <+R_1>_<Z>(,u)< +R—1> qﬁ(u),uR_l rst. 0<s'" <
Q R
(79) > dlF =) "slF
q=1 r=1
(80) ﬂrsprgal Vr s.t.O<s?PT§1
(81) ﬁTsf.)PT > aq V7 s.t. Ogsng <1
dyP >0vq

0§S1{VE sOPT,aq§1Vq,j

rer

0< u,B
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The Nash equilibrium conditions are those that we derived in Lemma 11.
We now use the same technique as before. It is possible to show that (75-76) hold with
equality, and so we rewrite these equalities as

P() R+ (pe' (1) — d(p))d
R—d,

fqu

Olq:

and

g = (= o(w)R
a1 — () + pe' (1)

Inserting these two expressions in the objective function (74), we find that (74) is convex and
symmetric in dg, ¢ > 2. Thus we must have

R T £ i )L
quq‘””“@—l@:” a1—¢>(u)+u¢/(u)>

r=1

As before, we can argue that the worst case occurs when ) — oo. Therefore, after inserting
the expression for d, into (74) we can take the limit as () — oo and finally obtain the following
reduced optimization problem:

) m Ot (a1 = ¢(m) + o) TFy sV = TR B (sNE)?
11

R R
aq Zr:l 87“OPT - % Zr:l ﬁT(SQPT)2

(83) s.t. B, sNE <1 + Lny ) < o(p) <1 + s ) — ¢ () s Vrst. 0<sVF <1
" R—-1)~ R—-1 R—-1 roo=

(84) &ﬂEO+éﬁE>>Mm<u-§m>—wmmswawsto<ﬁm<1
" R-1)~ R—-1 R—-1 =

ﬂrsTOPTgal Vr s.t. O<39PT§ 1

BrsOTT >y Vrst. 0< 9T < 1
(85) 0<o(p) <o

Ogsfqu,s,QPTS 1 Vr

0 < p, B

Constraint (85) can be derived as before (if ¢(u) > a1, then dy = 0 Vg). Also observe that when
we let ¢(p) = p, this reduces to one of the optimization problems before. Now arguing as in
that proof, we can show that constraints (83-84) must hold with equality, and so we have

o(w) (1+57) — &' () 5r
ﬁr = NE
sNE (1 + ‘;{_1>

Then we can also show that

sOPT = min(ay/6,,1)
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Substituting these values into (82) we find that the system further reduces to

o — 1+R 1
s (o1 — () + () LIy 8NP - § R al )N fY
(86) min ( -
) () H‘R (n R 1 .
(631 25:1 mln(al/ﬁra 1) - Zf:l B (1+S£VE) (mln(al/ﬁra 1))2
SNE ’ ;},SNE
o(w) (1+ 577 — &' () 5r
s.t. By = Vr
SNE
sNE (1 + 1{_1>
0<o(p) <
0<sNE <1vr
0<pu
and we can further reduce this to
(a1 —b(1)) 160w (14727 ) =o' (1) 255
(87) st (01— 00) + 6w — 3 .
1 S —d _Ks
e min(a /3,1) — §XET A (mina /6, 1))2
o) (1+ 521) = o ()4
s.t. 0=
s (1 + RS_1>
0<o(p) <
0<s<1
0<

With a little algebra, the objective function (87) can be rewritten as

a1—o (1+ ) o' (w)ps
st etara (@1 = 0(w) + 6()s — jo(n) — 50

. 1 (1+ﬁ)—% .
amin(an /6, 1) ~ 3o(n) " A (minay 5,1)2
Now if we let ¢ := ¢'(u)p/d(p) and ¢ := ¢(p)/a1, we can rewrite the system (87) as

1 () et

1—
gy (L= ¢) + s -

. I+ 5
(88) min . () v
min(1/5,1) — 5 N (min(1/4,1))?
<1 + Rs_l) - TZJ(N) Rs_l
s.t. 8=¢
S (1 + Ril)

0<op<1
0<s<1
0<

In (88), we consider ¢ (u) to be a fixed function of p, and ¢ is a variable over which we are
minimizing the objective function.

Observe also that since ¢(u) is convex, ¥(u) > 1. When ¢(p) is linear, ¢(u) = 1 for all y,
and the (88) reduces to the function we had when deriving the bound. Recall that in that case
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sOPT — 1, because the objective function was strictly increasing in s when s?F7 = 1/3. The

same argument can be applied here, so let’s assume without loss of generality that sO©7 = 1.
Then the system becomes

(1-9)2 1 (7)) =) 72
. T ) TS T e s, S
min N N
|- 1,00 E) VR
2 S(1+RS—1)
S S S
1. _ > _
s.t 5<1+R_1> _¢<1+R_1 w(u)R_1>
0<op<1
0<s<1
0<u

The result then follows numerically. (]
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7.9. APPENDIX J: UNBOUNDED SUPPLY MECHANISMS.
Here we see why the supply functions must be bounded above. Specifically, we have the following
result.

Theorem 23. Let S(w,,w—;) be a continuous scalar-based market mechanism for the supply
side of a two-sided market, and let r denote a supplier. Suppose that for all r we have: (1) for
all s > 0, w_j, there is a bid wg such that S(ws,w—;) = s; (2) the payoff to r is
Tp = PSr — Cr(sr)

(3) the efficiency is calculated for a class of functions C such that C € C = aC € C for all
a > 0, and that every C' € C is bijective, continuous, and lims_,o, Cr(s) = 00; (4) There exists
a competitive equilibrium s > 0 for some p > 0; (5) the efficiency at a competitive equilibrium
is not worse than the efficiency at a Nash equilibrium. Then the welfare ratio (price of anarchy)
has to be zero.

Proof. Let s > 0 be a vector of competitive equilibrium allocations with price p > 0, let be r
denote a supplier with cost function C,.. Since s, # 0 for all r, we must have

dm,

ds,
At the optimal solution we must have C”.(s?F'T) = 1 (assuming, as usual, that valuation functions

are linear with max slope 1). Observe that s is also a competitive equilibrium with cost functions
aC, and price ap for any a > 0 since

=p—C(s%) =0

aCy sy ) = ap
holds and by concavity of payoffs, this is a local max of 7, as a function of s,.. Then by continuity
of s, > 0 this must also be a competitive equilibrium. The optimal solution is now
OPT -1
SOPT — 7 (1/a)
and the efficiency is

d§P + 302 dFF = YL aCu(sEF)  dfE 4+ 2 dP — S aCy(sCF)

Zr SQPT - Er C”’(STOPT) a Zr 07"_1(1/&) - Zr 1/04
Now if we let  — 0, C;-1(1/a) — o0, 1/a — oo and the efficiency at the competitive equilibrium
goes to zero. Since the efficiency at a Nash equilibrium was assumed to be at least as bad, it
also goes to zero. O

There are many very natural and elegant mechanisms that fall into this category. One is the
usual Cournot mechanism: suppliers’ bids are their outputs, and consumers’ bids are their
payment. Then each consumer receives a fraction of the total supply that is equal to the
fraction of money he contributed, and each supplier’s payment is handled similarly. This has
zero efficiency.

Another example is when consumers choose parametrized demand functions D(p,0) = 6/p

and suppliers choose supply functions S(6,p) = 0p. Then p = ,/Zq 0q//>_, 0r, the total
amount produced is 4 /> 0g/>, 6y, and each consumer receives 04/ > 0, of the total quantity
produced (and pays 6,), while each supplier produces 6,/ " 6, of the total amount.



